

Danielle N.

MARK S. GHILARDUCCI
DIRECTOR

October 9, 2017

Gena Castro-Rodriguez
Chief, Victim Services Division
San Francisco, City & County of - District Attorney's Office
850 Bryant Street, Room 322
San Francisco, CA 94103-4600

Subject:

Approval of Subaward Amendment #1

Elder Abuse Program

Subaward #: XE16 01 0380

Dear Ms. Castro-Rodriguez:

The California Governor's Office of Emergency Services (Cal OES) has received and approved the enclosed subaward amendment request, for the subject grant.

All other agreements shall remain as previously agreed upon.

Please contact your Program Specialist if you have any questions about this amendment.

VSPS GRANTS PROCESSING

Enclosure

c: Subrecipient file Program Specialist

## CALIFORNIA GOVERNOR'S OFFICE OF EMERGENCY SERVICES

GRANT SUBAWARD AMENDMENT	SUBAWARD #: XE16010380
Federal Grant # 2016-VA-64-6058 /NONL FIPS#	075-00000 Amendment# 1 <sup>1</sup>
Project # N/A DUNS # 14340 2105	Performance Period <u>07/01/2016</u> to <u>12/31/2019</u>
This amendment is between the California Governor's Offic Grant Subrecipient: San Francisco, City & County	e of Emergency Services, hereafter called Cal OES, and the
Grant Subaward #XE16010130 between the parties here to is hereby amend To change the end of performance period of the Subaward from 06/30/2018	to 12/31/2019.
ncrease the 15VOCA funds by \$0 from \$400,000 to \$400,000. ncrease the 15VOCA match by \$0 from \$100,000 to \$100,000.	RESEP 26 2017
ncrease the 16VOCA funds by \$233,333 from \$0 to \$233,333. ncrease the 16VOCA match by \$58,333 from \$0 to \$58,333.	SEP 26 2017 NV. 638 282
ncrease the 17VOCA funds by \$66,667 from \$0 to \$66,667. ncrease the 17VOCA match by \$16,667 from \$0 to \$16,667.	
ncrease the Total Project Cost by \$375,000 from \$500,000 to \$875,000.	
SPECIAL CONDITIONS:  15VOCA funds in the amount of \$500,000 must be expended by 8/31/2018 16VOCA funds in the amount of \$291,660 must be expended by 8/31/2019 The 2017 VOCA Funds in the amount of \$83,334 cannot be expended untifederal VOCA award be reduced, you will be notified and required to amend FIMAL LIQUIDATION PERIOD IS REDUCED FROM 90 to 60 CMES.  Failure to comply with these requirements may result in the withholding and Subaward.	WORK DAYS FOLLOWING THE END OF THE BRANT PERIOD.
Il other provisions of this agreement shall remain as previously agreed upo	
	and Signature of Authorized Agent)
By (Authorized Signature)	Date
Printed/Name	Title
George Gascón	District Attorney
Address	
350 Bryant Street, Room 322, San Francisco, CA 9410	3-4600
	y Services (For Cal OES use only)
By Director or Designee	Date
Tobilho Houx	10.5.17
Printed Name	Assistant Director
Amount Encumbered by this Document Program/Component	Match Item
300,000 40,20.451	20%, clik based on TDC 0690.102.0890
Prior Amount Encumbered Fund Source	Chapter Statute Fiscal Year
400,000 Federal Trust	23/14/2016/2017/2017/18
Total Amount Encumbered to Date PCA #	Project# CFDA#
700,000 18405/18406	15VOCA/16VOCA/17VOCA 116.575
	are available for the period and purpose of the expenditure stated above.
Signature of Cal OES Fiscal Officer	Date
Mary Grucker	10/4/17

## **GRANT SUBAWARD MODIFICATION**

MAIL TO:	California Governo	r's Office Of Em	ergency Servic	08			1	. Subaward	#: XE16 01	0380
	3650 Schriever Ave							. Modification	n# 1	1
	Mather, CA 95655	•	an Fi	rancisco,	City 4 C	ounty o	f - Distr	ct Attorr	rev's off	ice (W)
3. Subre	ecipient/Impleme	nting Agency	City &	County-of	San-Fran	cisco , DIS	TRICT ATT	DENEYS	OF FICE	CO
4. Proje	The state of the s	er Abuse (		am			District Control Control			
	act Person: Lor				_	(415) 553-		Fax:	(415) 55	
	il Address: lorr					ormance Per		016 to	12/31/201	
7. Payn	nent Malling Add	ress: 850	Bryant Stre		sion to Bu		CA 94103	L	Check he	ere if new.
-	Current	Manager 1	Grant	a. Nevi Funds	The Court of the C	line and	Require	d March	The second of	
	Allocation	A.	B.	C.	Fund	A.	B.	C.	Motob	
FISCA	L Acronym from	Personal Services	Operating Expenses	Equipment	Total	Personal Services	Operating Expenses	Equipment	· Match Total	Total
15	VOCA	\$285,762	\$114,238		\$400,000	\$46,801	\$53,199		\$100,000	\$500,000
16	VOCA				\$0				\$0	\$0
17	VOCA				\$0				\$0	\$0
Yr	Fund				\$0				\$0	\$0
Yr	Fund		-		\$0	,		-	\$0	\$0
Propos	ed Change {add	(+)lor subtract	(-) from budg	eted amount	ra di katama	8.08 (days)	लग्रा हुन्तुस्त्रीम्	chorate and	eran beren	2:350:374
15	VOCA	(\$12,422)	\$12,422		\$0	\$28,321	(\$28,321)		\$0	\$0
16	VOCA	\$206,826	\$26,507		\$233,333	\$57,542	\$791		\$58,333	\$291,666
17	VOCA	\$59,215	\$7,452		\$66,667	\$7,903	\$8,764	9	\$16,667	\$83,334
Yr	Fund				\$0				\$0	\$0
Yr	Fund				\$0				\$0	\$0
Revised	Allocation	Heritage in		New York	-514/4		Ku Li Villa Harris	1,4454	the Comment	10 - 10 j
15	VOCA	\$273,340	\$126,660	\$0	\$400,000	\$75,122	\$24,878	\$0	\$100,000	\$500,000
16	VOCA	\$206,826	\$26,507	\$0	\$233,333	\$57,542	\$791	\$0	\$58,333	\$291,666
17	VOCA	\$59,215	\$7,452	\$0	\$66,667	\$7,903	\$8,764	\$0	\$16,667	\$83,334
Yr	Fund	\$0	\$0	\$0	\$0	\$0	\$0	\$0	\$0	\$0
Yr	Fund	\$0	\$0	\$0	\$0	. \$0	\$0	\$0	\$0	\$0
o luci	tification for Mo	diffication: (H	nooccary	continue t	no inetificati	on on page	3)		Char	k to Total
		unication. (II	necessary,	, continue a	ie justilicati	on on page	3.)		Onec	ik to Total
See pag	ge 3.									
10. Sul	recipient Approval	5 25 20 20 3	M. L. Marie	<b>通過過失</b> 過				<b>《加速型》</b>		差。在例例
	Castro-Rodrig					ene Clepdii				
Project	Director (typed name	(o) Y	0	9/2	Finan	cial Officer (ty	per name)		ala	- 1-
M	or cons	120	deson	Date	911	clal Officer Sig	nature		7/2 Date	2/1/
Project	Director Signature	<b>对为自然态</b>			USE ONLY	Cial dilical sign	Hawie Se A		Date	
Gallog	SAPPOVAL Signatu	1 1 1 4	<b>计算是 對於 国际</b>	0/2	1.17	1) -	$ \Omega$		09/	27/17
Program	Specialist	quelo			9/11	nit Chief	VIJa	STATE	CEN	EN-
	elissa!	Riede	Q	10(	317		r (	K SI	EP 26 20	17
Grants I	Processing			Date				- 11	THE PERSON NAMED IN COLUMN	U

# GRANT SUBAWARD MODIFICATION Cal OES 2-223 INSTRUCTIONS

#### 9. Justification for Modification (cont.)

¡To change the end of performance period of the Subaward from 06/30/2018 to 12/31/2019.

Increase the 15VOCA funds by \$0 from \$400,000 to \$400,000. Increase the 15VOCA match by \$0 from \$100,000 to \$100,000.

Increase the 16VOCA funds by \$233,333 from \$0 to \$233,333. Increase the 16VOCA match by \$58,333 from \$0 to \$58,333.

Increase the 17VOCA funds by \$66,667 from \$0 to \$66,667. Increase the 17VOCA match by \$16,667 from \$0 to \$16,667.

Increase the Total Project Cost by \$375,000 from \$500,000 to \$875,000.

## CALIFORNIA GOVERNOR'S OFFICE OF EMERGENCY SERVICES SUPPLEMENTAL GRANT SUBAWARD INFORMATION

#### 1. Cal OES Contact Information Section:

Governor's Office of Emergency Services Mark S. Ghilarducci, Director 3650 Schriever Avenue Mather, CA 95655 (916) 845-8506 phone • (916) 845-8511 fax

#### 2. Federal Awarding Agency Section:

Fund Year	Federal Program Fund / CFDA #	Federal Awarding Agency	Total Federal Award Amount	Total Local Assistance Amount
2015	Victims of Crime Act (VOCA) / 16,575	Office for Victims of Crime	\$232,722,931	\$223,414,013
2016	Victims of Crime Act (VOCA) / 16.575	Office for Victims of Crime	\$264,297,285	\$253,725,394
2017	Victims of Crime Act (VOCA) / 16.575	Office for Victims of Crime	\$218,943,281	\$210,185,550
Choose an item.	Choose an item.	Choose an item.	S	\$
Choose an item.	Choose an item.	Choose an item.	\$	\$

#### 3. Project Description Section:

- Project Acronym (Please choose from drop down): Elder Abuse Program (XE)
- Project Description (Please type the Project Description):
   To expand the multidisciplinary community response to elder and dependent adult abuse.

4. Research & Development Se	ection:
------------------------------	---------

•	Is this Subaward a Research & Development grant?	Yes □	No ⊠

#### **BUDGET CATEGORY AND LINE ITEM DETAIL**

A. Personal Services – Salaries/Employee Benefits  129 VW Investigator/Victim Advocate - Peter Huynh Biweekly salary (01/01/17-6/30/17): \$2,800 x 13 pay perlods x 1 FTE = \$36,400 Biweekly salary (07/01/17-08/31/18): \$3,021 x 30.5 pay periods x 1 FTE = \$92,140.5 Biweekly salary (09/01/18-08/31/19): \$3,021 x 26 pay perlods x 1 FTE = \$78,546 Biweekly salary (09/01/19-12/31/19): \$3,021 x 8.7 pay periods x 1 FTE = \$26,283 Billingual pay (01/01/17-08/31/18): \$40 x 43.5 pay periods x 1 FTE + \$1,740 Billingual pay (09/01/18-08/31/19): \$40 x 26 pay periods x 1 FTE + \$1,040 Billingual pay (09/01/19-12/31/19): \$40 x 8.7 pay periods x 1 FTE + \$348  29 VW Investigator/Victim Advocate - Emily Burtch	\$36,400 \$92,141 \$1,740 \$21,908	15 VOCA MATCH	\$78,546 \$1,040	16 VOCA MATCH	17 VOCA \$26,283 \$348	17 VOCA MATCH	\$36,400 \$92,141 \$78,546 \$26,283 \$1,740 \$1,040
Biweekly salary (01/01/17-6/30/17): \$2,800 x 13 pay periods x 1 FTE = \$36,400 Biweekly salary (07/01/17-08/31/18): \$3,021 x 30.5 pay periods x 1 FTE = \$92,140.5 Biweekly salary (09/01/18-08/31/19): \$3,021 x 26 pay periods x 1 FTE = \$78,546 Biweekly salary (09/01/19-12/31/19): \$3,021 x 8.7 pay periods x 1 FTE = \$26,283 Billingual pay (01/01/17-08/31/18): \$40 x 43.5 pay periods x 1 FTE + \$1,740 Billingual pay (09/01/18-08/31/19): \$40 x 26 pay periods x 1 FTE + \$1,040 Billingual pay (09/01/19-12/31/19): \$40 x 8.7 pay periods x 1 FTE + \$348	\$92,141 \$1,740						\$92,141 \$78,546 \$26,283 \$1,740 \$1,040
29 VW Investigator/Victim Advocate - Emily Burtch	\$21,908						
Blweekly salary (01/01/17-6/30/17): \$2,247 x 13 pay periods x 0.75 FTE = \$21,908 Blweekly salary (07/01/17-12/31/17): \$2,609 x 13 pay periods x 0.75 FTE = \$25,438 Biweekly salary (01/01/18-08/31/18): \$2,740 x 17.5 pay periods x 0.75 FTE = \$35,963 Biweekly salary (09/01/18-12/31/18): \$2,740 x 8.6 pay periods x 0.75 FTE = \$17,673 Blweekly salary (01/01/19-08/31/19): \$2,877 x 17.4 pay periods x 0.75 FTE = \$37,545 Biweekly salary (09/01/19-12/31/19): \$2,877 x 8.7 pay periods x 0.75 FTE = \$18,772  Citim Advocate Fringe Benefits: 47.8237% for P. ayrh & E. Burtch Social Security: 6.2% Social Security Medicare: 1.45% Health Insurance: \$3,401 Dependent Coverage: \$9,617 Long Term Disability: 0.35% Retirement: 20.16% Unemployment Insurance: 0.27%  Volunteer Match @ 8129 \$31.05 hourly rate x 1,552 hours = \$48,190 \$31.98 hourly rate x 1,552 hours = \$49,633	\$25,438 \$35,963 \$59,750	\$26,932 \$48,190	\$17,673 \$37,544 \$72,023	\$7,909 \$49,633	\$18,773 \$13,811	\$7,903	\$21,908 \$25,438 \$35,963 \$17,673 \$37,544 \$18,773 \$188,328
	41		·				· 6
ersonal Section Totals	\$273,340	\$75,122	\$206,826	\$57,542	\$59,215	\$7,903	\$679,94

#### BUDGET CATEGORY AND LINE ITEM DETAIL

Subrecipient: City & County of San Francisco	Şubaward #: XE16 01 0380							
B. Operating Expenses	15 VOCA	15 VOCA MATCH	16 VOCA	16 VOCA MATCH	17 VOCA	17 VOCA MATCH	COST	
Public Awareness Campaign	\$52,815	\$22,185	\$1,230			\$7,974	\$84,204	
Sing Tao Weekly Newspaper	****	30,000	3.2				* 1.565	
4 full page ads x \$2,000 per ad = \$8,000 San Francisco Examiner Newspaper							1	
4 full page ads x \$3,500 per ad = \$14,000								
FM 96.1 Mandarin Radio		2.						
4 radio ads x \$1,000 per ad = \$4,000								
KGO Radio 4 radio ads x \$1,000 per ad = \$4,000							1	
Billboard								
3 billboards x \$12,000 each = \$36,000								
Outreach Materials 3,000 bags x \$2 per bag = \$6,000					*			
6,102 brochures x \$2 per brochure = \$12,204					S			
Contractor	640 000						640.000	
Contractors Graphic Designer x \$10,000	\$12,000						\$12,000	
Material Translation x \$2,000		3						
The sure of the su	\$22 EAA						633 E00	
Emergency financial assistance for victims 15 victims x \$1,500 maximum = \$22,500	\$22,500				9		\$22,500	
	1900 - 1900						9820152040	
Travel for Project Director's Meetings	\$4,738						\$4,738	
Airfare: \$300 x 2 staff x 2 trips = \$1,200 Hotel: \$150 x 2 staff x 3 nights x 2 trips = \$1,800								
Per diem: \$73 x 2 staff x 3 days x 1 trip = \$438						4		
Ground transportation: \$200 x 2 staff x 2 trips = \$800	1 1/2							
Mileage: \$0.535 x 934 miles = \$500		8			100			
Rent		0.00						
Rent (01/01/17-8/30/18): 125 square feet x \$21/square	<b>#7 070</b>		12				67.070	
foot x 1.75 FTE x 1.5833 yrs Rent (09/01/18-8/30/19): 125 square feet x \$21/square	\$7,273						\$7,273	
foot x 1.75 FTE x 1 yr			\$4,594				\$4,594	
Rent (09/01/19-12/31/19): 125 square feet x \$21/square		80		<del>9</del>	64 594		64 504	
foot x 1.75 FTE x 0.3333 yr					\$1,531		\$1,531	
Indirect - 10% di minimus	\$27,334	\$2,693	\$20,683	\$791	\$5,921	\$790	\$58,212	
10% x \$582,125 salary & fringe = \$58,212								
Use for indirect - general administration, Finance, Payroll, Human Resources, Information Technology, and						× .		
Executive Management								
			3					
15		- 1						
					- 64			
	t i		9					
9								
Operating Section Totals	\$126,660	\$24,878	\$26,507	\$791	\$7,452	\$8,764	\$195,052	
Operating Section Totals	\$120,000	φ24,070	φ20,007	9701	φ1,402	\$0,704	\$195,052	

Cal OES 2-106a (Revised 4/2016)

#### BUDGET CATEGORY AND LINE ITEM DETAIL

Subrecipient: City & County of San Francisco				Subaward #	: XE16 01 03	880	
C. Equipment	15 VOCA	15 VOCA MATCH	16 VOCA	16 VOGA MATCH	17 VOCA	17 VOCA MATCH	COST
None requested.							\$
	-						
	1						
		+					
			· 4.				
		-					
				1			
						l i	
	*						**
	1						
						- 1	
			- 1				5.
	#0	rto.	80	- 60	***	***	
uipment Section Totals  QUIPMENT SECTION TOTAL	\$0	\$0	\$0	\$0	\$0	\$0	
KOLEMENT SECTION TOTAL			***************************************	************	************	***************************************	\$0 ***********
Category Totals	*********					***************************************	
Same as Section 12G on the Grant Subaward Face Sheet	\$400,000	\$100,000	\$233,333	\$58,333	\$66,667	\$16,667	

	er Abuse Program co, City & County Program		Subaward #: XE16 01 0380  Performance Period: 07/01/16 - 12/31/19  Latest Request: June 2017, Not Final 201					
A. Persona	l Services - Salaries/Employee	Benefits						
F/S/L	Funding Source	<b>Budget Amount</b>	Paid/Expended	Balance	Pending	Pending Balance		
F	15VOCA	273,340	78,861	194,479	0	194,479		
L	15VOCA	75,122	10,153	64,969	0	64,969		
F	16VOCA	206,826	0	206,826	0	206,826		
L	16VOCA	57,542	0	57,542	0	57,542		
F	17VOCA	59,215	0	59,215	0	59,21		
L	17VOCA	7,903	0	7,903	0	7,90		
Total A. Pe	rsonal Services - Salaries/Emp	loyee Benefits: 679,948	89,014	590,934	0	590,934		
B. Operatin	g Expenses Funding Source	Budget Amount	Paid/Expended	Balance	Pending	Pending Balanc		
		Budget Amount 126,660	Paid/Expended 7,919	Balance 118,741	Pending 0	Pending Balanc		
F/S/L	Funding Source				0	118,74		
F/S/L	Funding Source 15VOCA	126,660	7,919	118,741	. 0	7/		
<u>F/S/L</u> F L	Funding Source 15VOCA 15VOCA	126,660 24,878	7,919 11,542	118,741 13,336	. 0	118,74 13,33		
F/S/L F L F	Funding Source 15VOCA 15VOCA 16VOCA	126,660 24,878 26,507	7,919 11,542 0	118,741 13,336 26,507	. 0 0 0	118,74 13,336 26,50		
F/S/L F L F L	Funding Source 15VOCA 15VOCA 16VOCA 16VOCA	126,660 24,878 26,507 791	7,919 11,542 0 0	118,741 13,336 26,507 791	. 0 0 0 0	118,74 13,336 26,50 79		

**Budget Amount** 

Paid/Expended

**Funding Source** 

F/S/L

Pending Balance

Pending

Balance

### **VSPS Budget Summary Report**

XE16 Elder Abuse Program San Francisco, City & County Elder Abuse Program		The state of the second section of the second secon					-	Perfo	ward #: XE16 01 ( ormance Period: ( st Request: June	07/01/16 - 12/3	
			140								
F	151/000			0		0		•			
-	15VOCA 15VOCA	3		0		0	0	0	0		
_	16VOCA			0	W.	0	0	0	0		
1	16VOCA			0	72//	0	0	0	0		
_	17VOCA			0		0	0	0	0		
F .	17VOCA			0		0	0	0	0		
L	TIVOGA			0		0	U	U	U		
Total C. Eq	quipment:	y.		0	•	0	0		0		
			Budget A	Amount	Paid/Expe	ended -	Balance	Pending	Pending Balance		
Total Loca	al Match:		17	5,000	21	,695	153,305	0	153,305		
Total Fun	ded:		70	00,000	86	,780	613,220	0	613,220		
Total Proj	ect Cost:		87	5,000	108	,475	766,525	0	766,525		

#### **Budget Narrative**

Budget Period: 7/1/2016 - 12/31/2019 (3.5 years)

#### A. PERSONAL SERVICES

\$679,948

Two victim advocates (8129 Victim Witness Investigator I) @ 1.75 FTE will be assigned to this grant and will be responsible for direct client services, day-to-day coordination with partner agencies, data tracking, trainings to community-based organizations, coordinating Division administrative functions and communications, and the completion of required program reporting. The victim advocates will also provide case management for victims served under the XE program, coordinate the multidisciplinary team that will respond to elder abuse cases, provide consultation and outreach to elders, and collect and report on data related to services provided.

Total volunteer hours of 3,104 hours will be used as an in-kind match. The total match of \$97,823 is calculated at the step 1 rate of an 8129 Victim Advocate.

Standard fringe benefits are allocated to the grant and include social security, Medicare, retirement, state unemployment compensation insurance, long-term disability, dependent coverage, and health and dental coverage for a total fringe cost of \$92,545.

#### B. OPERATING EXPENSES

\$195,052

Public Awareness Campaigns

A large portion of the XE program will be to conduct outreach to the elder population regarding financial abuse and pedestrian safety. A mix of print, radio, billboards, and outreach materials will be used and is estimated at \$96,204 to include graphic designer and translation services. Brochures and re-usable bags will be used for outreach and education in

the community at in person events to be held at elder service agencies, community events and information sessions. The goal is to decrease elder pedestrian risk and increase safety.

Description	Quantity	Per unit	Total
Sing Tao Weekly, full page ad	4	\$2,000	\$8,000
San Francisco Examiner, ad	4	\$3,500	\$14,000
FM 96.1 Mandarin Radio, ad	4	\$1,000	\$4,000
KGO Radio, ad	4	\$1,000	\$4,000
Billboard (3 billboards @ 3 locations x 4 times)	3	\$12,000	\$36,000
Bags	3,000	\$2	\$6,000
Brochures	6,102	\$2	\$12,204
Graphic Designer	1	\$10,000	\$10,000
Translation of materials	1	\$2,000	\$2,000

The office issued a Request for Qualifications (RFQ) for As-Needed Communications

Consultant for SFDA Public Awareness Campaigns in October 2014 and it is through this

RFQ that the Graphic Designer services will be obtained.

#### **Emergency Financial Assistance**

Critical losses due to crime victimization will be assessed along with financial need and ability to access resources from other sources. If determined that the victim has direct crime related losses not covered by other sources within 48 hours of the crime, the advocate will apply to for funds up to \$1,500 from the Emergency Assistance Fund to pay for items such as food, clothing, taxis, prophylactic and non-prophylactic medication, medical equipment, health care items including glasses, dentures, hearing aids, and other items as need. The Emergency Financial Assistance fund is budgeted at \$1,500 per victim x 15 victims for a total cost of \$22,500.

#### Travel

The mandatory Project Director's meeting and other travel and training is budgeted at \$4,738.

Airfare:  $\$300 \times 2 \text{ staff } \times 2 \text{ trips} = \$1,200$ 

Hotel:  $$150 \times 2 \text{ staff } \times 3 \text{ nights } \times 2 \text{ trips} = $1,800$ 

Per diem: \$73 x 2 staff x 3 days x 1 = \$438

Ground transportation: \$200 x 2 staff x 2 trips = \$800

Mileage:  $$0.535 \times 934 \text{ miles} = $500$ 

#### Rent

Total rent of \$13,398 is calculated on 125 square feet at \$21/square foot per FTE.

For 01/01/17-8/30/18: 125 square feet x \$21/square foot x 1.75 FTE x 1.5833 yrs. = \$7,273

For 09/01/18-8/30/19: 125 square feet x \$21/square foot x 1.75 FTE x 1 yr. = \$4,594

For 09/01/19-12/31/19: 125 square feet x \$21/square foot x 1.75 FTE x 0.333 yr. = \$1,531

#### Indirect

Indirect costs are budgeted at 10% of salaries and fringe. Indirect costs are not directly attributable to any one program and include, but not limited to, general administration, Finance, Payroll, Human Resources, Information Technology, and Executive Management. 10% de Minimis x \$582,125 salary & fringe = \$58,212

#### C. EQUIPMENT

No equipment is budgeted for the grant period.

1.	Subaward	d #:	XE16 01 0	380			3. PERFO	RMAN	CE PERIOD
2.	PROJEC	TTITLE	Elder Abuse (>	(E) Program			07/01/2016	to	12/31/2019
4.	Name: City & County of San Francisco		Phone:	415-734-3359		5. GRANT AMOUNT (this is the same amount as the Grant Subaward Fac			
	Address: 850 Bryant Street, Room 322		Fax #:				\$ 875	,000	
	City:	San Francis	sco	Zip:	94103-46	300			Er ev
6.	IMPLEMI	ENTING AG	ENCY	9		CAMPAGATE		4	ON SHIP OF
	Name:	District Attorn	ey's Office <del>/Victim</del>	Services-Div.	_ Phone:	415-553-9044	Fax #	415	5-553-1034
	Address:	850 Bryant St	treet, Room 320		City:	San Francisco	D Zip:	941	03

#### 7. PROGRAM DESCRIPTION

The Elder Abuse Program (EAP) is housed within the San Francisco District Attorney's Office (SFDA), Victim Services Division. The EAP staff has an impressive track record of addressing the needs of senior victims of violent crime and working closely with public safety and community-based partners. Elder abuse victims receive streamlined services from initial referral through case adjudication, closure, and beyond; and benefit from the policy advocacy activities of the EAP.

#### 8. PROBLEM STATEMENT

Francisco has one of the highest concentrations of seniors living independently, and is home to an increasingly aging population. In fact, according to the 2010 Census, 14% (or 112,833) of San Francisco's population is 65 or older and is expected to grow by 100% by the year 2020. These older adults include a high concentration of non-English speaking seniors (over half of reported San Francisco elder abuse victims are minorities and almost one-third are non-English speaking), LGBT seniors, and a higher than average percentage of individuals with disabilities, 44% of whom are non-institutionalized disabled. San Francisco has a diverse elder population, and this diversity means we have diverse needs that can pose challenges in service delivery. In 2015, the Elder Abuse Program (EAP) served 311 victims of crime over the age of 60.

#### 9. OBJECTIVES

- 1. Direct Services.
- 2. Outreach and Public Awareness Campaign
- 3. Training: Elder abuse and criminal justice system education. Cr
- 4. Community Coordination: Strategic Collaboration and Coordination with Public Safety and other Partners.

#### 10. ACTIVITIES

Crisis Intervention Counseling, Criminal Justice Advocacy, Assistance Impact Statements, Crime Victim Compensation Benefits, Emergency Assistance, Referrals, Outreach to Seniors, Training to Providers, Community Events, Public Awareness Campaigns About Pedestrian Safety

11. EVALUATION (if applicable)

#### 12. NUMBER OF CLIENTS

(if applicable)

75 per year with direct services and 1,500 per year with outreach campaigns

(these are the same amounts as on Budget Pages)	Personal Services	Operating Expenses	Equipment	TOTAL
15 VOCA	\$273,340 \$679,948	d 12 6,060 \$195,052	Ø	\$400,000
15 VOCA MATCH	\$75,122	824,878	Ø	\$100,000
IV VOCA	\$206,826	\$ 26,507	Ø	d 233, 333 \$0-
16 VOCA MATCH	\$57,542	\$791	Ø	\$ 58, 333 \$0-
17 VOCA	\$ 59,215	817,452	ø	\$66,667 \$0
17 VOCA MATCH	\$7,903	\$8,764	ø	\$110,10107 \$0
Totals:	\$679,948	\$195,052	\$0	\$875,000